Verticle Theory #1 Name
Part One - Fill in the blanks to make a correct statement:

Class

1. A three-note chord is called a

2. In tonal harmony, chords are built in , beginning from the bottom or the root note.

3. The top note of the triad is called the

4.In a major chord the interval from the root to the third is

5. In a minor chord, the interval from the root to the third is

6. In both the major and minor chords, the interval from the root to the 5th is

Part Two: Write the three major triads for each given note using the first note as the root, then the thrid,
and finally, the fifth of the chord
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Part Three: Rewrite each major triad as a minor triad and each minor triad as a major triad.
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